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MUK & 2 =3 2,892,398 2,891,698 700

= 448,433 388,433 60,000
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2 45,000 45,000 0
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< 249,032 249,032 0
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ng=x 1,475,551 1,474,751 800
2 233,454 233,454 0
2 190,973 190,973 0
= 249,032 249,032 0
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(UIH)AFEIHOIY S5 At 19,800 19,000 800
2 14,250 14,250 0
= 1,188 1,188 0
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307 2I2H0I 19,800 19,000 800
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= 1,188 1,188 0
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oIz 2l (ZH D) 67,006 56,006 1,000
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101 9121 bl 67,006 56,006 11,000
01 24 67,006 56,006 1,000
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O2017& DI&HAIE XOLEOHAIOIE & X 27,704 0 27,704
020178 EFHAIE HMOLEOHAOE £X 25,369 0 25,369
020174 FHAAHS XS XA 3,362 0 3,362
02 Al - HIEXSttes 152,681 148,456 4,225
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